

EXERCISE - 9(f)

Date 7/3. 11. 23

$$\frac{1}{2} (i) \int \frac{4x-9}{x^2-5x+6} dx$$

$$= \int \frac{4x-9}{x^2-3x-2x+6} dx$$

$$= \int \frac{4x-9}{x(x-3)-2(x-3)} dx$$

$$= \int \frac{4x-9}{(x-3)(x-2)} dx$$

$$\frac{4x-9}{(x-3)(x-2)} = \frac{A}{x-3} + \frac{B}{x-2}$$

$$\frac{4x-9}{(x-3)(x-2)} = \frac{A(x-2) + B(x-3)}{(x-3)(x-2)}$$

$$4x-9 = A(x-2) + B(x-3)$$

$$x=2 \Rightarrow 4(2)-9 = A(2-2) + B(2-3)$$

$$\Rightarrow -1 = -B$$

$$\Rightarrow B=1$$

$$x=3 \Rightarrow 4(3)-9 = A(3-2) + B(3-3)$$

$$\Rightarrow 3=A$$

$$\Rightarrow A=3$$

$$\therefore \int \frac{4x-9}{x^2-5x+6} dx = \int \frac{3}{x-3} dx + \int \frac{1}{x-2} dx$$

$$= 3 \ln(x-3) + \ln(x-2) + C$$

$$= \ln \{ (x-3)^3 (x-2) \} + C$$

(ii) $\int \frac{3x}{(x-4)(x+2)} dx$

$$\frac{3x}{(x-4)(x+2)} = \frac{A}{(x-4)} + \frac{B}{(x+2)}$$

$$\frac{3x}{(x-4)(x+2)} = \frac{A(x+2) + B(x-4)}{(x-4)(x+2)}$$

$$3x = A(x+2) + B(x-4)$$

$$x = -2 \Rightarrow 3(-2) = A(-2+2) + B(-2-4)$$

$$\Rightarrow -6 = B(-6)$$

$$\Rightarrow B = 1$$

$$x = 4 \Rightarrow 3 \cdot 4 = A(4+2) + B(4-4)$$

$$\Rightarrow 12 = 6A$$

$$\Rightarrow A = \frac{12}{6} = 2$$

$$\therefore \int \frac{3x}{(x-4)(x+2)} dx = \int \frac{2}{x-4} dx + \int \frac{1}{x+2} dx$$

$$= 2 \ln(x-4) + \ln(x+2) + C$$

$$= \ln(x-4)^2 (x+2) + C$$

(iii) $\int \frac{5x-12}{(x-3)(x-6)} dx$

$$\frac{5x-12}{(x-3)(x-6)} = \frac{A}{x-3} + \frac{B}{x-6}$$

$$\frac{5x-12}{(x-3)(x-6)} = \frac{A(x-6) + B(x-3)}{(x-3)(x-6)}$$

$$5x-12 = A(x-6) + B(x-3)$$

$$x=6 \Rightarrow 5 \cdot 6 - 12 = A(6-6) + B(6-3)$$

$$18 = B(3)$$

$$B = \frac{18}{3} = 6$$

$$x=3 \Rightarrow$$

$$\frac{5 \cdot 3 - 12}{2} = A \left(\frac{3}{2} - 6 \right) + B \left(\frac{3}{2} - 3 \right)$$

$$\frac{5-12}{2} = A \left(\frac{3-12}{2} \right) + B \left(\frac{3-6}{2} \right)$$

$$-\frac{7}{2} = A - \frac{9}{2}$$

$$A = 1$$

(iv)

$$\int \frac{5x-12}{(x-3)(x-6)} dx = \int \frac{1}{x-3} dx + \int \frac{6}{x-6} dx$$

$$= \frac{1}{2} \ln(x-3) + 6 \ln(x-6) + C$$

$$= \ln \sqrt{x-3} + 6 \ln(x-6) + C$$

(v)

$$\int \frac{20x+3}{6x^2x-2} dx$$

$$= \int \frac{20x+3}{8x^2-4x+3x-2} dx$$

$$= \int \frac{20x+3}{8x(3x-2)+1(3x-2)} dx$$

$$= \int \frac{20x+3}{8x+1)(3x-2)} dx$$

$$\frac{20x+3}{(8x+1)(3x-2)} = \frac{A}{8x+1} + \frac{B}{3x-2}$$

$$\frac{20x+3}{(8x+1)(3x-2)} = \frac{A(3x-2) + B(8x+1)}{(8x+1)(3x-2)}$$

$$20x+3 = A(3x-2) + B(8x+1)$$

$$x = \frac{2}{3} \Rightarrow 20 \cdot \frac{2}{3} + 3 = A(3 \cdot \frac{2}{3} - 2) + B(8 \cdot \frac{2}{3} + 1)$$

$$\Rightarrow \frac{40}{3} + 3 = A \cdot 0 + B(\frac{16}{3} + 1)$$

$$\Rightarrow \frac{49}{3} = B \frac{19}{3}$$

$$\Rightarrow B = \frac{49}{19}$$

$$\Rightarrow B = 7 \frac{1}{19}$$

$$x = -\frac{1}{2} \Rightarrow 20 \cdot (-\frac{1}{2}) + 3 = A(3 \cdot (-\frac{1}{2}) - 2) + B(8 \cdot (-\frac{1}{2}) + 1)$$

$$\Rightarrow -10 + 3 = A \left(\frac{-3-4}{2} \right)$$

$$\Rightarrow -7 = A \left(\frac{-7}{2} \right)$$

$$\Rightarrow A = \frac{7}{2}$$

$$\Rightarrow A = 2$$

$$\begin{aligned} \therefore \int \frac{20x+3}{x^2-x-2} dx &= \int \frac{2}{(x+1)} dx + \int \frac{7}{3x-2} dx \\ &= \frac{1}{1} \ln(x+1) + 7 \cdot \frac{1}{3} \ln(3x-2) + C \\ &= \ln(x+1) + \frac{7}{3} \ln(3x-2) + C \\ &= \ln \left\{ (x+1) \cdot (3x-2)^{\frac{7}{3}} \right\} + C \end{aligned}$$

$$(v) \int \frac{dx}{(x-1)(x-2)(x-3)}$$

$$\frac{1}{(x-1)(x-2)(x-3)} = \frac{A}{(x-1)} + \frac{B}{(x-2)} + \frac{C}{(x-3)}$$

$$= \frac{A(x-2)(x-3) + B(x-1)(x-3) + C(x-1)(x-2)}{(x-1)(x-2)(x-3)}$$

$$\frac{1}{(x-1)(x-2)(x-3)} = \frac{A(x^2 - 5x + 6) + B(x^2 - 4x + 3) + C(x^2 - 3x + 2)}{(x-1)(x-2)(x-3)}$$

$$1 = A(x^2 - 5x + 6) + B(x^2 - 4x + 3) + C(x^2 - 3x + 2)$$

Equal by equating the coefficient of
 in both side $1 = A + B + C$

$$x^2 = A(x-2)(x-3) + B(x-1)(x-3) + C(x-1)(x-2)$$

$$x=2 \Rightarrow 2 \cdot 2 = A(2-2)(2-3) + B(2-1)(2-3) + C(2-1)(2-2)$$

$$\Rightarrow 8 = B(1)(-1)$$

$$\Rightarrow B = -8$$

$$x=3 \Rightarrow 2 \cdot 3 = A(3-2)(3-3) + B(3-1)(3-3) + C(3-1)(3-2)$$

$$\Rightarrow 18 = C(2)(1)$$

$$\Rightarrow C = 9$$

$$x=1 \Rightarrow 2 \cdot 1 = A(1-2)(1-3) + B(1-1)(1-3) + C(1-1)(1-2)$$

$$\Rightarrow 2 = A(1)(2)$$

$$\Rightarrow A = 1$$

$$\frac{x^2}{(x-1)(x-2)(x-3)} = \frac{1}{x-1} + \frac{-8}{x-2} + \frac{9}{x-3}$$

$$= \ln(x-1) - 8 \ln(x-2) + 9 \ln(x-3) + C$$

(4)

$$\int \frac{13x^4 - 2x^3 - 4x^2 + x - 3}{6x^2 - x - 2} dx$$

$$6x^2 - x - 2 \overline{) 13x^4 - 2x^3 - 4x^2 + x - 3}$$

$$\underline{12x^4 - 2x^3 - 4x^2}$$

$$\hline x - 3$$

$$= \int \frac{x^3}{3} + \frac{x-3}{6x^2-x-2} dx$$

$$= \int \frac{x^3}{3} dx + \int \frac{x-3}{6x^2-x-2} dx$$

$$= \frac{x^3}{3} + \int \frac{x-3}{6x^2-x-2} dx$$

$$= \frac{x^3}{3} + \int \frac{x-3}{(3x+1)(2x-2)} dx$$

$$= \frac{x^3}{3} + \int \frac{x-3}{(3x+1)(2x-2)} dx$$

$$= \frac{x^3}{3} + \int \frac{x-3}{(3x+1)(2x-2)} dx$$

$$= \frac{x^3}{3} + I$$

$$I = \frac{x-3}{(3x+1)(2x-2)} = \frac{A}{3x+1} + \frac{B}{2x-2}$$

$$\Rightarrow \frac{x-3}{(3x+1)(2x-2)} = \frac{A(2x-2) + B(3x+1)}{(3x+1)(2x-2)}$$

$$\Rightarrow x-3 = A(2x-2) + B(3x+1)$$

$$x = \frac{1}{2} \Rightarrow \frac{1}{2} - 3 = A(3 \cdot \frac{1}{2} - 2) + B(3 \cdot \frac{1}{2} + 1)$$

$$\Rightarrow \frac{1-6}{2} = A(\frac{3-4}{2}) + 0$$

$$\Rightarrow -\frac{5}{2} = A(-\frac{1}{2})$$

$$\Rightarrow A = 5$$

$$u = \frac{2}{3} \Rightarrow \frac{2}{3} - 3 = A(3 - \frac{2}{3}) + B(\frac{2}{3} + 1)$$

$$\Rightarrow \frac{2-9}{3} = +B(\frac{4+3}{3})$$

$$\Rightarrow \frac{-7}{3} = B \frac{7}{3}$$

$$\Rightarrow B = -1$$

$$\therefore \int \frac{2x^4 - 2x^3 - 4x^2 + x - 3}{6x^2 - x - 2} dx = \frac{2}{3} x^3 +$$

$$\int \frac{1}{2x+1} dx + \int \frac{-1}{3x-2} dx$$

$$= \frac{2}{3} x^3 + \frac{1}{2} \ln(2x+1) - \frac{1}{3} \ln(3x-2) + C$$

Q(1)

$$\int \frac{2x+9}{(x+3)^2} dx$$

$$\frac{2x+9}{(x+3)^2} = \frac{A}{(x+3)} + \frac{B}{(x+3)^2}$$

$$= \frac{A(x+3) + B}{(x+3)^2}$$

$$2x+9 = A(x+3) + B$$

$$x = -3 \Rightarrow 2(-3) + 9 = A(-3+3) + B$$

$$\Rightarrow -6+9 = B \Rightarrow B=3$$

$$2x+9 = A(x+3) + 3$$

$$A(x+3) + 3 = 2x+9$$

$$A(x+3) = 2x+9-3$$

$$A = \frac{2x+6}{x+3}$$

$$= \frac{2(x+3)}{x+3}$$

$$A = 2$$

$$\therefore \int \frac{2x+9}{(x+3)^2} dx = \int \frac{2}{x+3} dx + \int \frac{3}{(x+3)^2} dx$$

$$= 2 \ln(x+3) + 3 \cdot -1(x+3) - 1$$

$$= 2 \ln(x+3) - \frac{3}{x+3} + C$$

(ii) $\int \frac{5x^2+4x+4}{(x-2)(x+2)} dx$

(ii) Let $\frac{5x^2+4x+4}{(x-2)(x+2)} = \frac{A}{x-2} + \frac{B}{x+2} + \frac{C}{(x+2)^2}$

Then $A(x+2) + B(x-2) + C(x-2) = 5x^2+4x+4$

put $x = -2$

$$A(-2+2) + B(-2-2) + C(-2-2) = 5(-2)^2 + 4(-2) + 4$$

$$+ C(-2-2) = 5 \times (-2)^2 + 4(-2) + 4$$

$$\Rightarrow A \times 0 + B \times 0 + C \times (-4) = 20 - 8 + 4$$

$$\Rightarrow -4C = 16$$

$$\Rightarrow C = \frac{16}{-4} = -4$$

$$x = a$$

$$A(a+a)a + B(a-a)(a+a) + C(a-a) = 5a + 4a + y$$

$$\Rightarrow A \times 4a + B \times 0 + C \times 0 = 5a + 4a + y$$

$$\Rightarrow 4A = 9a$$

$$\Rightarrow A = \frac{9a}{4} = a$$

Again, eqn (i) becomes

$$A(x+a)a + B(x-a)(x+a) + C(x-a)$$

$$\Rightarrow A(xa + ya + xa) + B(xa - ya + xa - ya) + C(x-a)$$

$$\Rightarrow Ax^2 + Ayx + Ayx + Bx^2 - By + Cx - Ca$$

equating the coefficients of x^2

$$\Rightarrow A + B = 5$$

$$\begin{aligned} \Rightarrow B &= 5 - A \\ &= 5 - a \\ &= 3 \end{aligned}$$

Date 24.11.23

$$(iii) \int \frac{x^2 + x + y}{x^3 + x^2 - x - 2} dx$$

$$= \int \frac{x^2 + x + y}{x^2(x+1) - 2(x+1)} dx$$

$$= \int \frac{x^2 + x + y}{(x+1)(x-2)} dx = \int \frac{x^2 + x + y}{(x+1)(x+1)(x-1)} dx$$

$$= \int \frac{x^2 + x + y}{(x-1)(x+1)^2} dx$$

$$\frac{x^2 + x + y}{(x-1)(x+1)^2} = \frac{A}{x-1} + \frac{B}{x+1} + \frac{C}{(x+1)^2}$$

$$\frac{x^2 + x + y}{(x-1)(x+1)^2} = \frac{A(x+1)^2 + B(x-1)(x+1) + C(x-1)}{(x-1)(x+1)^2}$$

$$x^2 + x + y = A(x+1)^2 + B(x-1)(x+1) + C(x-1)$$

$$x = 1 \Rightarrow 1 + 1 + y = A(1+1)^2 + B(1-1)(1+1) + C(1-1)$$

$$\Rightarrow 2 = A(4) + 0 + 0$$

$$\Rightarrow A = \frac{1}{2}$$

$$x = -1 \Rightarrow 1 - 1 + y = A(-1+1)^2 + B(-1-1)(-1+1) + C(-1-1)$$

$$\Rightarrow -2 = C(-2)$$

$$\Rightarrow C = 1$$

equating the coefficient of x^2 on both side of eqn (1)

$$2 = A + B$$

$$A + B = 1$$

$$3 + B = 1$$

$$B = 1 - 3 = -2$$

$$\int \frac{x^4 + 3x^3 + x^2 - 1}{(x-1)(x+1)^2} dx = \int \frac{3}{x-1} dx + \int \frac{-2}{x+1} dx + \int \frac{1}{(x+1)^2} dx$$

$$= 3 \ln(x-1) - 2 \ln(x+1) + (-1)(x+1)^{-1} + C$$

$$= 3 \ln(x-1) - 2 \ln(x+1) - \frac{1}{(x+1)} + C$$

$$2(i) \int \frac{4x^2 - x + 3}{(x+1)(x-1)} dx$$

$$\frac{4x^2 - x + 3}{(x+1)(x-1)} = \frac{A}{(x+1)} + \frac{B}{(x-1)}$$

$$\frac{4x^2 - x + 3}{(x+1)(x-1)} = \frac{A(x-1) + B(x+1)}{(x+1)(x-1)}$$

$$4x^2 - x + 3 = A(x-1) + B(x+1) \quad \text{--- (1)}$$

$$x=1 \Rightarrow 4(1)^2 - 1 + 3 = A(1-1) + B(1+1)$$

$$\Rightarrow 4 - 1 + 3 = B(2)$$

$$\Rightarrow 6 = B(2)$$

$$\Rightarrow B = 3$$

equating the co-efficient of x in both side in eqn (1)

$$-1 = A + 0$$

$$A = -1$$

$$\int \frac{4x^2 - x + 3}{(x^2 + 1)(x - 1)} dx = \int \frac{1}{(x^2 + 1)} dx + \int \frac{3}{x - 1} dx$$

$$= -\frac{1}{2} \ln(x^2 + 1) + 3 \ln|x - 1|$$

$$\text{(ii)} \int \frac{5x}{(x^2 - 3x + 2)(x + 1)} dx$$

$$= \frac{5x}{(x - 1)(x - 2)(x + 1)}$$

$$\text{(ii)} \int \frac{dx}{x^2 - 5}$$

$$= \int \frac{dx}{(x - \sqrt{5})(x + \sqrt{5})}$$

$$= \frac{1}{2\sqrt{5}} \ln \left| \frac{x - \sqrt{5}}{x + \sqrt{5}} \right| + C$$

$$\text{(ii)} \int \frac{dx}{2x^2 + 8x + 7}$$

$$= \int \frac{dx}{2(x^2 + 4x + \frac{7}{2})}$$

$$= \int \frac{dx}{2(x^2 + 4x + 4 + \frac{7}{2} - 4)}$$

$$= \frac{1}{2} \int \frac{du}{(u^2 + 2u + 2)(2 - (2)u + \frac{1}{2})}$$

$$= \frac{1}{2} \int \frac{du}{(u+2)(2 - u + \frac{1}{2})}$$

$$= \frac{1}{2} \int \frac{du}{(u+2)(2 - \frac{1}{2})}$$

$$= \frac{1}{2} \int \frac{dt}{t + 2 - (\frac{1}{\sqrt{2}})2}$$

$$\begin{cases} \text{Let } u+2=t \\ 1 = \frac{dt}{du} \\ du = dt \end{cases}$$

$$= \frac{1}{2} \left[\frac{1}{2 - \frac{1}{\sqrt{2}}} \ln \left| \frac{t + \frac{1}{\sqrt{2}}}{t - \frac{1}{\sqrt{2}}} \right| \right] + C$$

$$= \frac{1}{2} \left[\frac{1}{\sqrt{2}} \ln \left| \frac{u+2 + \frac{1}{\sqrt{2}}}{u+2 - \frac{1}{\sqrt{2}}} \right| \right] + C$$

$$= \frac{1}{2\sqrt{2}} \ln \left| \frac{(u+2) + \frac{1}{\sqrt{2}}}{(u+2) - \frac{1}{\sqrt{2}}} \right| + C$$

7(iii)

$$\int \frac{du}{(u^2 + 8u + 7)}$$

$$u^2 + 8u + 7$$

$$= \int \frac{u+2 + 1}{u^2 + 8u + 7} du$$

$$= \int \frac{u+2}{u^2 + 8u + 7} du + \int \frac{1}{u^2 + 8u + 7} du$$

$$= \int \frac{dt}{t^2} + \int \frac{du}{u^2 + 8u + 7}$$

$$= \frac{1}{t} + \int \frac{du}{u^2 + 8u + 7}$$

$$\text{Let } u^2 + 8u + 7 = t$$

$$2u + 8 = \frac{dt}{du}$$

$$\begin{aligned} \frac{d}{du}(u+2) &= \frac{dt}{du} \\ (u+2) du &= \frac{dt}{2} \end{aligned}$$

$$= \frac{1}{y} \ln(xu + 8xu + 1) + \frac{1}{81y} \ln \left| \frac{15xu + 21x - 1}{15xu + 21x + 1} \right|$$

$$(iv) \int \frac{4xu + 20xu + 25}{xu + 8xu} dx$$

$$= \int \left(\frac{2 + 4x + 11}{xu + 8xu} \right) dx$$

$$\frac{xu + 8xu}{xu + 8xu} \left(\frac{4xu + 20xu + 25}{xu + 8xu} \right) = \frac{4xu + 20xu + 25}{xu + 8xu}$$

$$= \int 3 dx + \int \frac{xu + 8}{xu + 8xu} dx + \int \frac{3}{xu + 8xu} dx$$

$$= 3x + \int \frac{0 + 1}{0 + 1} + 3 \int \frac{0 + 1}{0 + 1}$$

$$= 3x + \ln(xu + 8xu) + 3 \ln \left(\frac{15(xu + 1)}{15(xu + 1)} \right) + C$$

$$(v) \int \frac{e^x}{e^{2x} + 3e^x + 2} dx$$

$$= \int \frac{e^x}{(e^x + 1)(e^x + 2)} dx$$

$$= \int \frac{e^x}{(e^x + 1)(e^x + 2)} dx = \int \frac{e^x}{(e^x + 1)(e^x + 2)} dx$$

$$= \int \frac{e^x}{(e^x + 1)(e^x + 2)} dx = \int \frac{e^x}{(e^x + 1)(e^x + 2)} dx$$

$$= \int \frac{e^x}{(e^x + 1)(e^x + 2)} dx = \int \frac{e^x}{(e^x + 1)(e^x + 2)} dx$$

$$= \int \frac{e^x}{(e^x + 1)(e^x + 2)} dx = \int \frac{e^x}{(e^x + 1)(e^x + 2)} dx$$

$$\text{Let } e^x = t \\ e^x = \frac{dt}{dx}$$

$$e^x dx = dt$$

$$\text{Let } t + \frac{3}{2} = 2$$

$$1 = \frac{dz}{dt}$$

$$dt = dz$$

$$= \frac{-1}{2 \cdot \frac{\sqrt{5}}{2}} \ln \left| \frac{2 - \frac{\sqrt{5}}{2}}{2 + \frac{\sqrt{5}}{2}} \right| + C$$

$$= \frac{1}{\sqrt{5}} \ln \left| \frac{2(t + \frac{3}{2}) - \sqrt{5}}{2(t + \frac{3}{2}) + \sqrt{5}} \right| + C$$

$$= \frac{1}{\sqrt{5}} \ln \left| \frac{2(e^x + 3) - \sqrt{5}}{2e^x + 3 + \sqrt{5}} \right| + C$$

(vi)

$$\int \frac{\tan \theta + 1}{\sec \theta} d\theta$$

$$= \int \frac{\tan \theta + 1}{\sec \theta} d\theta$$

$$= \int \frac{dt}{t^2 - 1}$$

$$= \frac{1}{2} \ln \left| \frac{t-1}{t+1} \right| + C$$

$$= \frac{1}{2} \ln \left| \frac{\tan \theta - 1}{\tan \theta + 1} \right| + C$$

Let $\tan \theta = t$
 $\sec \theta = \frac{dt}{d\theta}$
 $\sec \theta d\theta = dt$

$$59) \int \frac{dx}{3-x^2} = \int \frac{dx}{(\sqrt{3})^2 - x^2}$$

$$= \frac{1}{2\sqrt{3}} \ln \left| \frac{\sqrt{3} + x}{\sqrt{3} - x} \right| + C$$

$$\begin{aligned}
 \text{(ii)} \quad & \int \frac{du}{7 - u^2 + 6u} \\
 &= \int \frac{du}{-(u^2 - 6u + 7)} \\
 &= \int \frac{du}{-(u^2 - 2 \cdot u \cdot 3 + (3)^2 - (3)^2 + 7)} = \int \frac{du}{-(u^2 - 2 \cdot u \cdot 3 + (3)^2 - 9 + 7)} \\
 &= - \int \frac{du}{(u-3)^2 - (4)^2} = - \int \frac{du}{u^2 - 2 \cdot u \cdot 3 + 9 - 16} \\
 &= - \frac{1}{8} \ln \left| \frac{u-3+4}{u-3-4} \right| + C \\
 &= - \frac{1}{8} \ln \left| \frac{u+1}{u-7} \right| + C
 \end{aligned}$$

$$\begin{aligned}
 \text{(iii)} \quad & \int \frac{u-5}{7 - u^2 + 6u} du \\
 &= \int \frac{u-5}{-(u^2 - 6u + 7)} du \\
 &= \int \frac{u-5}{-(u^2 - 2 \cdot 3 \cdot u + (3)^2 - (3)^2 + 7)} du \\
 &= \int \frac{u-5}{-(u^2 - 2 \cdot 3 \cdot u + (3)^2 - 9 + 7)} du \\
 &= \frac{u-5}{-(u^2 - 2 \cdot 3 \cdot u + (3)^2 - 9 + 7)} du \\
 &= \frac{u-5}{(4)^2 - (u-3)^2} du \\
 &= \int \frac{u-5}{(4+u-3)(4-u+3)} du = \int \frac{u-5}{(u+1)(7-u)} du
 \end{aligned}$$

$$\frac{x-5}{(x+1)(x-2)} = \frac{A}{x+1} + \frac{B}{x-2}$$

$$\frac{x-5}{(x+1)(x-2)} = \frac{A(x-2) + B(x+1)}{(x+1)(x-2)}$$

$$(iv) \int \frac{\cos \theta}{3 - \sin \theta} d\theta$$

$$\begin{cases} \text{Let } \sin \theta = t \\ \cos \theta = \frac{dt}{d\theta} \\ \cos \theta d\theta = dt \end{cases}$$

$$= \int \frac{dt}{3-t}$$

$$= \frac{1}{\sqrt{3}} \ln \left| \frac{1 + \sqrt{3}}{t - \sqrt{3}} \right| + C$$

$$= \frac{1}{\sqrt{3}} \ln \left| \frac{\sqrt{3} + \sin \theta}{3 - \sin \theta} \right| + C$$

$$= \frac{1}{\sqrt{3}} \ln \left| \frac{\sqrt{3} + \sin \theta}{3 - \sin \theta} \right| + C$$

$$(v) \frac{x^2 dx}{x^3 + 3}$$

~~(iv)~~

$$\frac{x^4 + 3x^3 + x^2 - 1}{x^3 + x^2 - x - 1} = \frac{(x+1) + \frac{3x+1}{(x+1)(x-1)}}{(x+1)(x-1)}$$

$$\text{Let } \frac{3x+1}{(x+1)(x-1)}$$

$$Q(1v) \int \frac{x^4 + 3x^3 + x^2 - 2}{x^3 + x^2 - x - 2} = dx$$

$$\cancel{x^3 + x^2 - x - 2}$$

$$\cancel{x^2} + \frac{3x + x^0}{\cancel{x}}$$

$$\begin{array}{r} x^3 + x^2 - x - 2 \overline{) x^4 + 3x^3 + x^2 - 2} \\ \underline{-(x^3 + x^2 - x - 2)} \\ 2x^4 + 2x^3 - 2x - 2 \\ \underline{-(2x^3 + 2x^2 - 2x - 2)} \\ 2x^3 + 2x^2 - 2x - 2 \\ \underline{-(2x^3 + 2x^2 - 2x - 2)} \\ 0 \end{array}$$

$$x^3 + x^2 - x - 2$$

$$\rightarrow x^2(x+1) - 1x$$

$$(iv) \int \frac{x^4 + 3x^3 + x^2 - 2}{x^3 + x^2 - x - 2} = (x+2) + \frac{3x+1}{(x+1)^2(x-1)}$$

$$\text{Let } \frac{3x+1}{(x-1)(x+1)^2} = \frac{A}{x-1} + \frac{B}{x+1} + \frac{C}{(x+1)^2}$$

$$\text{Then } A(x+1)^2 + B(x-1)(x+1)$$

$$+ C(x-1) = 3x+1 \quad \text{--- (1)}$$

putting $x=1, -1$

$$\text{we get } 4A = 3 \text{ and } -2C = +2$$

$$\rightarrow A = \frac{3}{4} \text{ and } C = -1$$

Again equating the coefficients of x^2 on both sides of (1) we get

$$A + B = 0$$

$$\rightarrow B = -A \text{ on, } B = -\frac{3}{4}$$

Types: $\frac{3x+1}{(x-1)(x+1)^2}$

$$= \frac{1}{x-1} - \frac{1}{x+1} + \frac{1}{(x+1)^2}$$

$$\therefore \int \frac{x^4 + 3x^3 + x^2 - 1}{x^3 + x^2 - x - 1} dx$$

$$= \int (x+2) dx + \int \frac{dx}{x-1} - \int \frac{dx}{x+1} + \int \frac{dx}{(x+1)^2}$$

$$= \frac{x^2}{2} + 2x + \ln|x-1| - \ln|x+1| - \frac{1}{x+1}$$

COMPETITIVE BOOKS

Q.11) Let $Sx = \frac{(x^2 - 2x + 2)(x+1)}{(x^2 - 2x + 2)(x+1)}$

$$= \frac{A}{x+1} + \frac{Bx+C}{x^2 - 2x + 2} \quad (1)$$

$$\Rightarrow \frac{Sx}{(x^2 - 2x + 2)(x+1)} = \frac{A(x^2 - 2x + 2) + (Bx+C)(x+1)}{(x+1)(x^2 - 2x + 2)}$$

$$\Rightarrow Sx = A(x^2 - 2x + 2) + (Bx+C)(x+1)$$

put $x = -1$, then $S \times (-1) = A(1 + 2 + 2) + (B \times (-1) + C) \times (-1 + 1)$

$$\Rightarrow -5 = A + 0$$

$$\Rightarrow 5A = -5$$

$$\Rightarrow A = -\frac{5}{5}$$

$$\Rightarrow \boxed{A = -1}$$

put $x=0$, then

$$0 = A(0-0+2) + (0+c)(0+1)$$

$$\Rightarrow 0 = (-1)(2) + c \times 1$$

$$\Rightarrow c - 2 = 0$$

$$\Rightarrow c = 2$$

put $x=1$, then $5 = (-1)(1-2+2) + (1+c)2$

$$\Rightarrow 5 = -1 + 2 + 2c$$

$$\Rightarrow 5 + 1 - 2 = 2c$$

$$\Rightarrow 4 = 2c$$

$$\Rightarrow c = \frac{4}{2} = 2$$

$$\Rightarrow c = 2$$

$$\therefore \int \frac{5x}{(x^2-2x+2)(x+1)} dx = \int \left(\frac{-1}{x+1} + \frac{x+2}{x^2-2x+2} \right) dx$$

$$= - \int \frac{1}{x+1} dx + \int \frac{x+2}{x^2-2x+2} dx$$

$$= -\ln |x+1| + \frac{1}{2} \int \frac{x+2}{x^2-2x+2} dx$$

$$= -\ln|x+1| + \frac{1}{2} \int \frac{2u-2+4+2}{u^2-2u+2} du$$

$$= -\ln|x+1| + \frac{1}{2} \int \frac{2u-2}{u^2-2u+2} du + \frac{1}{2} \int \frac{4}{u^2-2u+2} du$$

$$= -\ln|x+1| + \frac{1}{2} \ln|u^2-2u+2| + 3 \int \frac{du}{(u-1)^2+1}$$

$$= -\ln|x+1| + \frac{1}{2} \ln|u^2-2u+2| + 3 \tan^{-1}|u-1| + C$$

$$(ii) \int \frac{3}{u^3-2} du \quad \left(\because \int \frac{1}{u^2+a^2} du = \frac{1}{a} \tan^{-1} \frac{u}{a} \right)$$

No w $\frac{3}{u^3-2}$

$$= \frac{3}{(u-1)(u^2+u+2)}$$

$$= \frac{A}{u-1} + \frac{Bu+C}{u^2+u+2}$$

$$\therefore \frac{3}{(u-1)(u^2+u+2)} = \frac{A(u^2+u+2) + (Bu+C)(u-1)}{(u-1)(u^2+u+2)}$$

$$\Rightarrow 3 = A(u^2+u+2) + (Bu+C)(u-1)$$

Let $u=1$, then $3 = A(1+1+2) + (B+C)(1-1)$

$$3 = A(3) + (B+C)(0)$$

$$\Rightarrow 3A = 3$$

$$\Rightarrow A = \frac{3}{3} = 1$$

put $x = 0$, then

$$3 = A(0+0+1) + (0+C)(-1)$$

$$\Rightarrow 3 = A - C$$

$$\Rightarrow 3 = 1 - C$$

$$\Rightarrow C = 1 - 3$$

$$\Rightarrow C = -2$$

put $x = 2$, then

$$3 = A(x^2+x+1) + (Bx+C)(x-1)$$

$$3 = A(4+2+1) + (2B+C)(-1)$$

$$= A(7) + (2B+C)(-1)$$

$$= 7 + (2B+C)(-1)$$

$$= 7 - 2 + 2B - 2$$

$$\Rightarrow 3 = 5 + 2B$$

$$\Rightarrow 2B = 3 - 5$$

$$\Rightarrow 2B = -2$$

$$\Rightarrow B = \frac{-2}{2}$$

$$\boxed{B = -1}$$

$$\therefore \frac{3}{x^3-1} \text{ de}$$

$$= \int \frac{1}{u-1} du + \int \frac{-u-2}{u^2+u+1} du$$

$$= \ln |u-1| - \frac{1}{2} \int \frac{2(u+2)}{u^2+u+1} du$$

$$= \ln |u-1| - \frac{1}{2} \int \frac{2u+4}{u^2+u+1} du$$

$$= \ln |u-1| - \frac{1}{2} \int \frac{2u+1+3}{u^2+u+1} du$$

$$= \ln |u-1| - \frac{1}{2} \left[\int \frac{2u+1}{u^2+u+1} du + \int \frac{3}{u^2+u+1} du \right]$$

$$= \ln |u-1| - \frac{1}{2} \ln |u^2+u+1| - \frac{3}{2} \int \frac{du}{u^2+u+1}$$

$$= \ln |u-1| - \frac{1}{2} \ln |u^2+u+1| - \frac{3}{2} \int \frac{du}{u^2+u+1}$$

All Books With Solutions

OBS

$$= \ln |u-1| - \frac{1}{2} \ln |u^2+u+1| - \frac{3}{2} \int \frac{du}{(u+\frac{1}{2})^2 + (\frac{\sqrt{3}}{2})^2}$$

$$= \ln |u-1| - \frac{1}{2} \ln |u^2+u+1| - \frac{3}{2} \cdot \frac{\sqrt{3}}{2} \cdot \frac{2}{\sqrt{3}}$$

$$+ \tan^{-1} \left(\frac{u+\frac{1}{2}}{\frac{\sqrt{3}}{2}} \right)$$

$$\ln |u-1| - \frac{1}{2} \ln |u^2+u+1| - \sqrt{3} \tan^{-1} \left(\frac{2(u+\frac{1}{2})}{\sqrt{3}} \right) + C$$

$$(iv) \int \frac{x^5 + x^4 + x^3 + x^2 + 4x + 7}{x^3 + 1} dx$$

$$\frac{x^5 + x^4 + x^3 + x^2 + 4x + 7}{x^3 + 1}$$

$$= (x^2 + x + 1) + \frac{3x}{x^3 + 1} \quad (2)$$

$$\text{Now, } \frac{3x}{x^3 + 1} = \frac{3x}{(x+1)(x^2 - x + 1)}$$

$$= \frac{A}{x+1} + \frac{Bx+C}{x^2 - x + 1}$$

$$\Rightarrow \frac{3x}{(x+1)(x^2 - x + 1)} = \frac{A(x^2 - x + 1)}{(x+1)(x^2 - x + 1)} + \frac{(Bx+C)(x+1)}{(x+1)(x^2 - x + 1)}$$

$$\Rightarrow 3x = A(x^2 - x + 1) + (Bx+C)(x+1) \quad (1)$$

$$\text{put } x = -1,$$

$$\Rightarrow 3x(-1) = A((-1)^2 - (-1) + 1) + (B(-1) + C)(-1 + 1)$$

$$\Rightarrow -3 = A(1 + 1 + 1) + 0$$

$$\Rightarrow 3A = -3$$

$$\Rightarrow A = \frac{-3}{3} = -1$$

$$\Rightarrow A = -1$$

put $x = 0$, so eqn (1) becomes

$$\begin{array}{r} x^2 + x + 1 \\ \times x^5 + x^4 + x^3 + x^2 + 4x + 7 \\ \hline x^5 + x^4 \\ \hline x^3 + x^2 + 4x + 7 \\ \times x^3 + x^2 + x + 1 \\ \hline x^3 + 3x + 6 \\ \times x^3 + x^2 + x + 1 \\ \hline 3x \end{array}$$

$$3 \times 0 = A(0-0+1) + (B \times 0 + C)$$

$$\Rightarrow 0 = -1 \times 1 + (0+C) \times 1$$

$$\Rightarrow 0 = -1 + C$$

$$\Rightarrow \boxed{C=1}$$

put $x=1$, so eqn (1) becomes

$$3 \times 1 = (-1)(1-1+1) + (B+1) \times 1$$

$$\Rightarrow 3 = -1 + B + 1$$

$$\Rightarrow B + 1 = 3$$

$$\Rightarrow B = 3 - 1 = 2$$

$$\Rightarrow B = \frac{2 \times 1}{1} = 2$$

$$\boxed{B=2}$$

So,

$$\int \frac{x^5 + x^4 + x^3 + x^2 + x + 1}{x^3 + 1} dx$$

$$= \int (x^2 + x + 1) dx - \int \frac{1}{(x+1)} dx + \frac{1}{3} \int \frac{2(x+1)}{x^3 + 1} dx$$

$$= \frac{x^3}{3} + \frac{x^2}{2} + x - \ln|x+1| + \frac{1}{3} \int \frac{2x+2}{x^3 + 1} dx$$

$$= \frac{x^3}{3} + \frac{x^2}{2} + x - \ln|x+1| + \frac{1}{3} \int \frac{2x-1+3}{x^3 + 1} dx$$

$$= \frac{u^3}{3} + \frac{u^2}{2} + u - \ln|u+1| + \frac{1}{2} \int \frac{2u-1}{u^2+1} du$$

$$+ \frac{3}{2} \int \frac{1}{(u-\frac{1}{2})^2 + (\frac{\sqrt{3}}{2})^2} du$$

$$= \frac{u^3}{3} + \frac{u^2}{2} + u - \ln|u+1| + \frac{1}{2} \ln$$

$$\left| \frac{2u-1}{\sqrt{3}} \right| + \frac{3}{2} \left[\frac{2}{\sqrt{3}} \tan^{-1} \left| \frac{2u-1}{\sqrt{3}} \right| \right] + c$$

$$= \frac{u^3}{3} + \frac{u^2}{2} + u - \ln|u+1| + \frac{1}{2} \ln \left| \frac{2u-1}{\sqrt{3}} \right| + \frac{3}{2} \tan^{-1} \left| \frac{2u-1}{\sqrt{3}} \right| + c$$

$$= \frac{u^3}{3} + \frac{u^2}{2} + u - \ln|u+1| + \frac{1}{2} \ln \left| \frac{2u-1}{\sqrt{3}} \right| + \frac{3}{2} \tan^{-1} \left| \frac{2u-1}{\sqrt{3}} \right| + c$$

$$5/(iii) \int \frac{x-5}{x^2-6x+7} dx = - \int \frac{u-5}{u^2-6u+7} du$$

$$= -\frac{1}{2} \int \frac{(2u-6) \cdot \frac{1}{2}}{u^2-6u+7} du$$

$$= \frac{1}{2} \int \frac{(2u-6) du}{u^2-6u+7} + 2 \int \frac{du}{u^2-6u+7}$$

$$= -\frac{1}{2} \ln |u^2 - 6u - 7| + 2 \int \frac{du}{(u-3)^2 - 4^2}$$

$$= -\frac{1}{2} \ln |u^2 - 6u - 7|$$

$$+ \frac{2}{2 \cdot 4} \ln \left| \frac{u-3-4}{u-3+4} \right| + C$$

$$= -\frac{1}{2} \ln |u^2 - 6u - 7|$$

$$+ \frac{1}{2} \ln \left| \frac{u-7}{u+1} \right| + C$$

(c) for $\frac{u^2}{(u^2+3)(u^2+2)}$ let $u^2 = z$

$$\therefore \frac{z}{(z+3)(z+2)} = \frac{A}{z+3} + \frac{B}{z+2}$$

$$= \frac{A}{z+3} + \frac{B}{z+2} \quad (\text{say})$$

$$= \frac{A(z+2) + B(z+3)}{(z+3)(z+2)}$$

Now $z = A(z+2) + B(z+3)$ is understood by putting $z = -2$ we have $B = -2$

• putting $z = -3$ we have $A = 3$.

$$\therefore I = \int \frac{u^2 du}{(u^2+3)(u^2+2)}$$

$$= 3 \int \frac{qu}{u^2+3} - 2 \int \frac{qu}{u^2+2}$$

$$= 3 \cdot \frac{1}{\sqrt{3}} \tan^{-1} \frac{u}{\sqrt{3}} - 2 \cdot \frac{1}{\sqrt{2}} \tan^{-1} \frac{u}{\sqrt{2}}$$

$$= \sqrt{3} \tan^{-1} \frac{u}{\sqrt{3}} - \sqrt{2} \tan^{-1} \frac{u}{\sqrt{2}}$$

vi) Let $I = \int \frac{u^3 qu}{u^2+3u^2+2}$

putting $u^2 = t \Rightarrow 2u du = dt$ we have

$$I = \frac{1}{2} \int \frac{t^2 + 2t}{t^2 + 3t + 2}$$

$$= \frac{1}{2} \int \frac{t^2 + 2t}{(t+2)(t+1)}$$

Let $\frac{t}{(t+2)(t+1)} = \frac{A}{t+2} + \frac{B}{t+1}$

$$= \frac{A(t+1) + B(t+2)}{(t+2)(t+1)}$$

$\Rightarrow t = A(t+1) + B(t+2)$ is an identity.

putting $t = -1$ we have

$$B = 1$$

putting $t = -2$ we have

$$-2 = -A \Rightarrow A = 2$$

$$\begin{aligned}
 \therefore I &= \frac{1}{a} \left[a \int \frac{dt}{t+a} - \int \frac{dt}{t+1} \right] \\
 &= \frac{1}{a} [\log |t+a| - \log |t+1|] + C \\
 &= \log |ka+a| - \frac{1}{a} \log |ka+1| + C
 \end{aligned}$$

(vii) Let $I = \int \frac{du}{\sin u (3+a \cos u)}$ $= \int \frac{\sin u du}{\sin u (3+a \cos u)}$

$$= \frac{\sin u du}{1 - \cos^2 u (3+a \cos u)}$$

Let $\cos u = t \Rightarrow -\sin u du = dt$

$$\therefore I = \int \frac{dt}{(1-t)(1+t)(3+at)}$$

Let $\frac{1}{(1-t)(1+t)(3+at)} = \frac{A}{1-t} + \frac{B}{1+t} + \frac{C}{3+at}$

$$= \frac{A}{1-t} + \frac{B}{1+t} + \frac{C}{3+at}$$

$$\begin{aligned}
 A(1+t)(3+at) + B(1+t)(1-t) \\
 + C(1-t)(1+t) \\
 = \frac{A(1+t)(3+at) + B(1-t)(1+t) + C(1-t)(1+t)}{(1-t)(1+t)(3+at)}
 \end{aligned}$$

$$\begin{aligned}
 \therefore L &= A(1+t)(3+at) + B(1-t)(1+t) \\
 &\quad + C(1-t)(1+t) \text{ is an identity}
 \end{aligned}$$

Putting $t = 2$ we have

$$2 = A(2) \Rightarrow A = \frac{1}{10}$$

Putting $t = -1$

$$2 = B(2) \Rightarrow B = \frac{1}{2}$$

Putting $t = \frac{3}{2}$

$$2 = C\left(\frac{19}{4}\right) \Rightarrow C = \frac{4}{5}$$

$$\therefore I = \frac{1}{10} \int \frac{9t}{1+t^2} - \frac{1}{2} \int \frac{9t}{1+t^2}$$

$$+ \frac{4}{5} \int \frac{9t}{1+t^2} + C$$

$$= \frac{2}{10} \log |1+t| - \frac{1}{2} \log |1+t| + \frac{4}{5} \cdot \frac{1}{2} \log |3t+2t| + C$$

$$= \frac{1}{5} \log (2 + \cos u) + \frac{1}{10} \log (2 - \cos u) + \frac{1}{5} \log (3 + 2 \cos u) + C$$